4 | GA

Keason 3: The Tsoxeles ’l?iangle Theorem
(base ang'\e.s ot an soeceles 'ﬁ'riangie_
are. ao'nﬂﬂj&.ﬂi‘)
A Th a proot, eadh skp is ofken @ direct resolt of e one before §k
Notice ‘ﬂ’l(id" statemartt 2 identified Fwo soxeles ~+r'\(1n61ds and Hat
the angles in step 3 are 4he base angles oF those. some driangles.

Reason A ¢ Giiven

# This statement was W‘i’ o e Or;f’)\‘ﬂa“\l Gven wrformation
S0 Yo just need 4o say ‘\giv‘an”‘

[

Stotement 5 LZHFM ¥ £ FKM

A The last 5+e.p in a Prw'wa i always +he s-l*@d'gmzn‘i' \Jeu ‘u‘Je.r‘e_
Q‘SK,GLI .o ‘PWVZ_, 50 \/OU (\e@cj on\\f coP\, |+ 'ﬁ'om +hL Dr‘sﬂmal

information.

Reason D¢ Transitive _ﬁv?eﬂ—
( or 6Ub$‘f’f‘h)ﬁ0f))
*  Three mg'le, condrvence. stotements are listed in e Prw‘ﬁ

When  linked -+06e.+}nr Ut‘vir’l‘g HM:, Transihve P(vpcr+\{ -H/Lo.\/ allow
Nou ‘o f:m{ Ghot 2L HFM = £FKMH.

LHEM = LMHF —P £HHF Z LFMK —» LFMK & ZFEH
(step 3) (step H) (step 3)

X Since. e Aransidve Pmpex“w 5 st a S‘Faia\ cose. ot
+the sobshtution ‘Fmpcrﬂ-\/, Jou ey &ve eHuer os

'\{OU r  reascn,



H#3 @A
C_ T you oTe I‘_OI > years OiCI, Fhen \ov
are nol™ o teenager.

* To wWrite She werse. . \vsst n&gxﬁ'& ‘e hypethesi
and  conclusion, b | | o=

The inverse. s FALSE. becavse. 12 s not Haeo m\\/
a9¢e- & -\-ea-ﬂaﬂef w@an e,

Coun-izrcaxc&mP\fi E 1] =& Jt‘eeﬂaﬂe;i"'

#3 d

*  The Con"'mFO—’?H'W@ & o e stedement (when \Jou nﬁc&cd’é
and switch +he order & e h\wo-was.is ond\ condosionj
15 aways trve,

lhoice A v not trve becavse yv miﬁ'ﬂ*’ q4e 5‘&‘1&“%5 at other fimes as well,
thoicee B 1e not twe becavse th Aicect\ contradicts -'tha_arfs’lm\ <ot vent,

Choice D s por 4we foc Hhe came veason s not “rve.
TE  ahoice. ¢ wasnt 4rve, Nou wWoeold not qe sledd\ nQ
when 1+ was -5nouu‘m§, whvehh s ‘\m-Passible_ dve tv T
+he ori_c)ma\ stodement. Therefore St must e rve,

¥ g
Two +rfang\c5 coold hove disferent side \cnﬁ\*hﬁ Hot
add vp o the same sum.

H+op+9q = 5H+1+9
) = sl
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#5
M:fpiéadm% Diagranm)
Moblem \Void

4 O

( Postulates are assumzc\ 1o be +rve, without ‘prz;c';F>

+#/ D

The som of the \@”5‘%5 ot any +wo sides of a
Jr‘ria |€_ fY\Uf:'?'i’ bé— Srm‘{:gr _l.-hm 'H('LQ_ ‘%ir(_l 5{%

|e)ﬁ3‘|‘1’) , Therefore:
N < a5+R0

n < H5
The. \ar%fsjr* number™ given as a choice tmat
does ot exceed H s L

#+8 186"
Since. N obtuse. A \e. can howe On\\l one._ OHUSC.
it s also Tieosceles +hen 4o olo-{-use_.

cmg\ﬁ,
omg’\e s 4the Verdkex angle. The &2° m@]& musT
be. one ot +he +wo con@rwﬁjr base. a!‘ng\[eéa

“ThereSore s,
I8 gz = el

” g Uy +x = 180
> X= 130
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“The U.ng\e; bisechrs  intersect ot Hhe “incenter” of +he

+riang\<i» Sincz. the icenter (s ezj_uidisjﬁ'an'f Som the sides

of Hhe Ariangle, @ cicle whose radivs is Had distance

will i+ perfectly inside. the triangle.

10 d

On\\/ choice. ¢ names two '+ri&n5\e.s Hat contain the
givm angles in PrDFerlY correspondinﬁ FOS'l'HOf\f:B.

1| ) NL = NL
Since. NL. 1% a side shared b\/ AXLN and AHLN., 51’7:&‘"”16 it
is /—onﬂrvm+ o el will help pove. the triangles Corgwent
&) AKLN = AMLN
The. lost statement in a Pmo{l s aways what was asked
to ve poven.
3 SAS

Sinee. oo sefs of (iorrzs'YvrA'\n sides and the tncluded Gug‘eS
were stated 4o be congrven earlie— in the proof, you can
vse the side-angie - side dheorem o prove Hhe triangles
éo-’\gx‘um"l‘.
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An\/ ¥ mrr\’ isosceles '-’rri'anﬂlc: must have. two c;onlﬂruerﬂ‘ base.
angles measuring H5° cach. "Tr'-imﬂg\eis with congrvent
cm_gief;} ave. similar,

(foun*’a’e,xa,mpfe. Coonterexample Counterexample.
for A for © Lo D

— |
H 3 ®)

The ’l?i&ng\c Propor'ﬁonali‘f“\(’ Theorem stodes ¢ |

IfF o line F:amlLe\ Yo o side. 68 & -—\*riangle_ intersects
Hie other tWo sides, 4hen ¥ divides those sideg
T('roForHoma\ l\./ "

& 200 in”
To caloldde the area. of +he squace, Nou must ca\evlate the
side |en3+\n. Here. are 4wo ways fo do that =

x = 10Ja

e O C'__ O ‘ a_
Pythaaorean Theorem. | 45 -19-90 JAY Aen. O = sde
| H\{PO‘\’&HUSQ-—" L&S
. S 2
% | 0 = (I072)
W w2 g0” : T= = = |00
ozxa: i --939—-__‘}-‘-?-—'-: ‘_Q_Q.J_é = &OO 10&
x*= 00 I a3 V= =%
% = Ja00 |
;X = 10V,
|
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F#15 L-“B inches C._

“The. g - side. of +he %’mpe,za?d Sorms oo 30=0™-9q0° triangle.
5:0«_ the. short | of a 2000 90" ~|’1’|ctnc5'f’_ e
half as long as the hypotenvse,, +he base of the
triangle {5 H tnches, The longer side ofF a 20%c0”qp°
triangle s the short lea tines JB, Therefore s

h=HJ3

# 1o 53,15 £+

B

TP ig o side oFf ATBP, but since we on\\/ Know one.
side 'le,nﬂ‘l‘h F Hot A, thee s nol” e.nous\q info +o
vse. ‘dired'\Y, In5+ead) consider A BPK  (draw
exux"nliar\/ 5¢ﬂmcu’ﬂ' BP on the base of Hhe yﬂip‘bfé’)a Use
+he ?y‘l*haﬂorean Theorem o Sind BP.

= i 5%+ 10 = @_Pi
5 0 225+ 100 = 8P
K 2A2RXH5 = &P
BP = 18,012

Now you <an go back 1o ATOP and uvse +he
Py-ﬂt'hasor{an Theorem aﬂa’\r\r

< .
0™+ (19.028) = ’1_:P9'
. 2500 +335 =TP™
KXHALD =TP™
e e - - ¢ TP = Jx8as oR LMIERCL 5%:15 5

& 19,029



it No, ndl" a rectargle

B

%y

3
T 51;,7{

~
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SO,

I 4he wall is a r’ed'an'asle., i has right anﬂies.. b
thot 15 +ve, the side le,né-i'hs ond d-n‘aﬁonal Will work
in the P\/-Hnaﬂoman “Theorem,

2 & = =

- g
2ARS5 + Ho0 = 5AL. |
035 # 591

Since. e 0*+7= o™ relationship doesnt work, +he
wall 15 not™ o re,d—ang\e_,

+H 18
30,000 FY.

(]

@05

X

Give. we Know the side opposite. the l(o;"j”argle. and need
the gide adiacent 4o H, we will vse fangents

tan (165°) = 30,000
X

Fan(1:5°) X = 30,000

4o (6.5°)
- 101,878 &
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Sinwe. sinx = rpm— and SinX = 3¢

you can \abel —+he -h‘angle, az.ccoralingl\{a

& 10

%

Fom Hure, Jou can erther use +he Pyﬂmﬂormn Theorem 1o
find e thidd side (a4) and then vse i+7in the cosing Todio:

(oox = odipeent  — 21 o 1E o q33
hypotenuse. Ale IS

Or, \ou coold vse the inverse sine Key on \Jour cal wlator
4o fnd X4

sin~' (%) = 2. 6199°
And  Huen use the cosing buotton s
005 (22.0199°) = ,4D

#H.0 56°
Since. the given valves involve —+he. opposite ard adjacertt sides &
the Ariangles, we will vse -lmqen*'
+an¢3” = ("%

& " +an 63 % = 5 X = 33.119
_ @5
x A " tané3°
| _ o
. fan £8 oot
+ansp = |.H07HS

Fa A oD

e P tan " (1.50745) = £B
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